According to Say’s Law it is impossible to have over-production. Why?
What is wrong with this reasoning?

Say’s Law and its various interpretations constitute the heart of this ongoing debate of whether over-production (gluts), which invariably presupposes demand deficiency, is the main cause of recession. The validity of say’s Law runs to the very core of economic theory just about every mainstream economist before the publication of Keynes ‘The General Theory’ (1936) denied the possibility of demand failure was the reason for recession due to the overwhelming pressure of the economy to employ all its available productive capabilities (labour). Keynes the ‘master polemicist’ ascribed by his critics irreversibly shifted the argument the other way rather it was precisely demand failure that constituted recession, caused by involuntary unemployment. Although he was following a tradition of marginal thought within the debate from Malthus, and Sismondi it was invariably Keynes that shattered the classical presupposition and classified it null and void. Nevertheless, it is important to step back and take a deeper insight into the argument. The question set forth is clearly formulated from a Keynesian perspective that has only adopted a partial and misrepresented formulation of the Say’s Law that is ‘Say’s Identity’ one of the three components identified by Becker and Baumol (1952). By adopting this line of argument according to Kates (1997) Jonsson (1997) Keynes oversimplification has distorted the true meaning of Say’s Law that was adopted by the classicists ‘Say’s Equality’, which enabled him to delete market cycle theory from mainstream economic theory. I shall spend the initial part of the paper answering the question from a Keynesian perspective and his understanding of why Say’s Law implies that over production is impossible and the second part would be a critique of Keynes presentation and understanding of Say’s work.

Keynes ‘The General Theory’ (1936) concentrated on ‘effective demand’ and attempted to prove that demand deficiency is the primary contributor to involuntary unemployment and hence recession. With the aid of Davidson (1984) we can present the difference between Keynes and Say’s work by looking at the Marshallian aggregate supply and aggregate demand function. The aggregate supply function relates to entrepreneurs expected sales proceeds with the level of employment. Hence entrepreneurs will hire for any volume of expected sales receipts.  Note figure 1A is drawn as upward sloping, indicating that there is a positive relationship between expected sales and increasing employment. Also noting figure 1B the aggregate demand function is also upward sloping indicating that increasing employment also increases consumption. 

Figure 1 
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Davidson combines the supply and demand functions to one quadrant to provide the equilibrium level of employment. In figure 2A the aggregate supply and demand functions represent the Say’s model where the over simplistic dictum of ‘supply created its own demand’ is clearly highlighted. The functions are overlapping throughout the entire length. Note that at any time the employment level is N1, actual demand would be constrained at point G. If there were a combined effort by all firms to employ more to achieve greater output this will achieve a higher demand level point T at the full employment level of N2. Thus according to Keynes interpretation Say’s Law represents no obstacle to full employment as long as there is no obstacle to wage flexibility thus within this model over- production is not feasible. ‘Instead of having a unique equilibrium value, is an infinite range of values all equally admissible’.[footnoteRef:-1]  Firms will infinitely employ labour as long as the marginal productivity of labour is equal to the real wage rate, which tells us that the firms demand for labour is an inverse function of the real wage, the lower the wage the more will be employed. In contrast figure 2B presents the distinguishable features of demand and supply functions, which intersect at one particular point the point of ‘effective demand’ (E) this is consistent with Keynes theory. The equilibrium level of employment is N1, at the full employment level N2 there is a deficiency in effective demand equal to the vertical distance between J and K, hence the output at the full employment level cannot be sold above the cost of production.  [-1:   The General Theory (1936:26)] 


Figure 2
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The failure of effective demand demonstrated in figure 2B demonstrates the apparent contradiction within the classical perspective that demand deficiency is not possible due to constant return to full employment, and the output at this level will be successfully consumed. Keynes further proposes that the level of output is determined by planned aggregate expenditure, which consists of consumption expenditure by households and investment by firms, this can be illustrated with the following equation E=C+I. In the classical model fluctuations in saving and investment are equilibrated by the flexible interest rate. For Keynes it was dependent on the level of income. Investment according to Keynes is dependent on the expected profitability of capital, which he terms as the ‘marginal efficiency of capital’ thus employment becomes dependent on volatile and unpredictable investment expenditure.  This is due to the ‘expectations’ that entrepreneurs have trying to quantify future demand and cost, which is ultimately unpredictable. Hence given the volatility of expectations driven by ‘animal spirits’ employment and the level of output also becomes volatile. ‘The violent fluctuations in the marginal efficiency of capital form the shocks which shift real aggregate demand, that is the main source of economic fluctuations’.[footnoteRef:0]  [0:   Snowdon et al (1994:65)] 


Within the classical perspective ‘demand is equal to supply’ money within this perspective is only a medium of exchange it has no utility of in it self it is regarded as a veil covering the underlying real forces of the economy. Within the classical perspective there is a dichotomy between the real factors of the economy and the nominal factors the quantity theory of money is regarded as a nominal factor. It has no effect on employment or aggregate demand. As the money supply increases this causes disequilibrium in the nominal demand for money illustrated by the Cambridge equation Md=kPY. As the full employment level predetermines output ‘Y’ demonstrated in figure 2A. Thus the only effect that an increase in the money supply will have in the long run is to raise the price level to achieve equilibrium. The price level will rise in proportion to the increase in the money supply. For Keynes on the other hand due to the dependence of aggregate output and employment on aggregate expenditure, which can be volatile and unpredictable this causes a desire for liquidity preference both by households and firms hence investment and consumption declines this causes a glut an over-production. Money effects the real side of the economy, both employment and output. 

By demonstrating the apparent flaws inherent within Say’s Law Keynes seemed to have successfully undermined the classical perspective, however this is not the case according to Kates (1997, 2009) Jonsson (1997) Becker and Baumol (1952). Kates proposes that Keynes specifically adopted a convoluted and simplistic understanding of Say’s Law in The General Theory in order to justify his macroeconomic revolution that demand failure is the most important cause of recession. Becker and Baumol noted that the classical economists had ‘never held views like those ascribed to them’.[footnoteRef:1] Becker & Baumol also crucially identify and divide Say’s Law into a three-part division that have been used to interpret his work in numerous ways. ‘Walras law’, which is merely a definition and has no economic implications, the second is ‘Say’s identity’, which refers to the proposition that demand is equal to supply, and the third is ‘Say’s equality’, which proposes that while demand for goods may move out of equilibrium with the supply of goods this is only temporary the processes of the economy will bring the economy back to equilibrium.  Keynes interpretation is solely based on Say’s identity although it misrepresents the model it enables him to position himself as revolutionary compared to previous economic theory. The ‘master polemicist’ assigned to Keynes by Kates seems to be an accurate description. This simplistic understanding of Say’s Law however is very different to the one employed by the classicists of Say’s equality. [1:   Becker and Baumol (1952:355)] 


Kates provides a reinterpretation Say’s Law that was embodied within the classical perspective and proposes that the fundamental point is that sales proceed from production, which enable one to buy from others. ‘To buy one must sell’[footnoteRef:2]. But the individual also possess other people’s means of acquiring goods and services so we are all dependent upon each other. This according to Kates means that there are two aspects of Say’s Law the conclusion of deficient demand is not the cause of recession is based upon the profound observation that demand is constituted by supply. ‘What might superficially appear to be demand failure is in fact due to the problems on the side of supply. The apparent failure of demand, which is how recession is perceived to be seller, is in fact due to factors, which have caused the production process to break down. Demand failure is a symptom not a cause’.[footnoteRef:3] Say’s argument is based on a simple truism that trade is bilateral. ‘The value we can buy is equal to the value we can produce’.[footnoteRef:4] Thus following from this recession is due to cumulative errors in the production process; if a traders offerings are not wanted by other trading partners then this will have a negative effect on his effective demand, it is in this process that recession is possible within Say’s Law. Demand failure is only possible when unwanted goods are produced this is due to miscalculation on behalf of producers not consumers. McCulloch also clearly states this fact in the early part of the 18th century. ‘A glut never originates in an increase in production; but is, in every case a consequence of the misapplication of the ability to produce’.[footnoteRef:5] Thus when recessions occur it is due to errors in production not demand. Hence partial over-production according to Say’s law is possible due to unwanted goods being produced this will invetably cause a decline in income and expected demand and this partial glut could reverberate around the whole economy causing a recession, however this would not last very long. According to Jonsson reasoning since by definition the aggregate value of all planned sales equals the total planned purchases, this is also the case when ex-ante plans of buyers and seller are not equal, as long as the value of ex-ante gluts is equivalent to ex-ante shortages. McCulloch states that ‘universal glut of all sorts of commodities is impossible; every excess in one class must be countervailed by an equal deficiency in some other class’.[footnoteRef:6] It is important to note that although actual sales are equal to actual purchases ex-post. Partial gluts may cause an inequality in ex-ante trading plans which is different from actual ex-ante planned or actual trade; it is what I think I would get for my product and thus create notional demand based on this unrealistic assumption. Effective demand and notional demand are two separate assumptions and although by definition effective demand cannot be deficient notional demand can be unequal to effective demand. ‘It is in this sense…that Say’s theory of vent and coordination is also a theory of effective demand failure’.[footnoteRef:7]   [2:   S. Kates (2009:2)]  [3:   S. Kates (2009:2)]  [4:   P O. Jonsson (1997:205)]  [5:   S. Kates (1997:199)]  [6:   P O. Jonsson (1997:208)]  [7:   Ibid (209)] 


Kates in an article for the Quadrant (2009) provides a detailed account of the Great depression and how individual nations adopted different strategies to cope with the unprecedented hardship. He reports that countries such as England and Australia adopted a classical approach were production could not exceed demand, therefore treating the symptom of recession by attempting to raise demand through public spending as Keynes and his predecessors Malthus and Spence would propose were refused by these particular countries.  Kates provides a quote from the British chancellor at the time Neville Chamberlin who states that, ‘At any rate we are free from that fear which besets so many less fortunately placed, the fear that things are going to get worse. We owe our freedom from that fear largely to the fact that we have balanced our budget'.[footnoteRef:8] [8:   S. Kates (2009: Number 3)] 

In contrast the US were heavily influenced by Keynes and adopted his theory in the ‘New Deal’. Kates comments that England and Australia were among the first countries that came out of the recession while the US had a prolonged and painful path out. He also provides data on the unemployment rate within these countries between 1929-1936 and it is consistent with his argument the US has by far the highest unemployment rate in 1938 although they all had similar rates in 1932. 

Kates provides important criticisms of Keynes’s work due to his misrepresentation of Say’s Law, and thus classical theory. However Blaug (1997) provides important critique of Kates work. He points out that Kates ‘would have us turn Keynes on its head to argue that what is wrong is not Say’s Law in any of its versions but Keynes refutation of Say’s Law and Keynes belief that an insufficiency of effective demand can ever be the cause of unemployment’.[footnoteRef:9] Blaug continues and states that in the eagerness to rescue the classical economists from Keynes onslaught Kates totally forgets the historical context in which the classicists and Keynes were writing in. Blaug distinguishes between a Keynesian unemployment and Marxist unemployment. Although the symptoms of unemployment are the same the cure is different due to the differences in their nature. Therefore it follows that unemployment in developing countries of Africa and Asia must be cured by different methods to those developed to cure the unemployment rate in developed nations.  According to Blaug, Kates seems to have fallen victim to the same tendency that argues if Ricardo and Mill were correct in the 19th century they will surely be right in the 20th century. ‘I contend instead that     [9:   M. Blaug (1997: 234)] 
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